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an early release day
Do question similar to #119
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The Amusement Park has decided to imitate The Screamer but wants to make it even better. Their ride will consist
of a circular track with a radius of 100 feet, and the center of the circle will be 50 feet ABOVE ground. Passengers
will board at the normal spot which will now be 50 feet above ground (riders will climb up stairs to board another

words). Write a function that relates the angle traveled from the starting point to the height of the rider above or
below the ground. (HINT: Draw a diagram to help).
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Four Question Assignment:

7....119

1 0....13a , 101a, 103b
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